Dynamics Homework 7
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A proposed impact tester consists of a 2-m

" long uniform bar 0A of 16-kg mass. The

position h of the 20-kg striker B can be ad-

_justed before a test. Determine H so that

there is no reaction at the pivot O caused by
B smkmg the specimen S, The pendulum

- swings down with only its weight acting on

it Neglect the transverse dimensions of 04
and B . RN

A S-kg umform disk is rot,, mg at a constant
; speed @ = 30 rad/fs when it is lowered onto
"'a horizontal sutface and reléased, Determine

" the time elapsed until the dlsk begins to roll

i thhoux sltppmg 1[;:,‘ =03

r=10<m

..
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18-51 The 20-ft-long swinging arm of an amusement
ride is a uniform rod of 200 1b weight. The
500-1b weight of the riders and the cab may
be assumed as concentrated at B, the end of
the rod. At 8 = 30°, 0 = 0. Determine the
force F at ¢ = 45° and the reaction at 0 for
causing an angular acceleration of 1 rad/s*
of the rod.
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Solve Prob. 18-73 assuming that @, =
022 rad/s, constant. -

A 60-1b ladder is assumed to be a uniform bar
which starts sliding without frictional resis-
tance. Determine the forces at A and B.

Solve Prob. 18-75 assuming that a 2001
person is at the center of the ladder. Neglect
the dimensions of the person.

Pins 4 and B of the S-kg, uniform bar have
negligible mass and size, and they slide frecly
in their tracks. Calculate the acceleration of
B and the forces between the pins and their
guides caused by the force F.

F=300N
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